EARAROBREBRT —5 XN—ZXBISH—F

2022462848 (&) 12@)1 11558

mﬁi%—ﬁg C1t)\ BN R
[xE<%] 1% :1,200,000 3 . 23 :480,000 .~ 33&:300,000 43&:180,000 9 . 5 & :120,000 /3
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
o~ = HEEE :31. -5-4~ . - HEE— (i)
1 3 ESUSAT 4 5 *5%.0 1(3_1)6 5-5-4-4 | 40.4 4 ézg;) el
RiEVFOVY BILFARRATULAY & 2
. w E=[E=L ] :31.9 8-9-4-5 |40.3 = 7 490 | B:&@pm— (11IE)
2B 2 XY LT«AO i B (11 311/2) 4e) |BHEM
RiO—IRA XA B RAF/TSRADY HREARBS
— : - RS . _6-0- _ KEFESE (GAFD)
3056 FPAIAT 4 —7 TV 4 o5 1(.33/24.)0 6-6-9-6 | 40.8 9 (1_1;1; ;%5%;
R:ikoo0-U— #:RIMVIRE BK B
= = t 4 [FENEaE=Y 1:32.2 11-11-11-9 | 40.0 = 1" 397 | LLBEE (1IE)
4111123793747 £ 54.0 (3/4) (-5) *’AEE;E :
R:F/IVITYR B:TTURKA—=) Pl ]
a3 2 4 4 [FEspEE] 1:32.3 10-10-8-8 | 40.5 - 1 417 | WFEZ (#618)
51710/ Fvy¥ak/ I 54.0 %) 7) | BEZEE @)
RiA—= v I)— §:o0hvTvya =YV Tr7—LI
o, g = < B2 : ={=f= = #BABR (&)
6 4 IEILFHROY 4t 4 592%; 1(73%:573 1-1-1-1 41.8 3 (5_239) ?ﬁ:
R:UAYF4—RX Bb—I2T—-)b L4145 T7—1
BERE : -8-10- - BAE— (B
717 9 ILhA—FAF— 4 o vy 1.(312).5 8-8-10-10 | 41.1 10 (1_1??) o )
R:7RIAVY L= ALY =t ]
—_ ¥ 4 5 | AHESE 1:32.5 4-4-4-3 |41.5| — 6 | 451 |=AE— (B
EH 7|914=—IND— 56.0 NF) +#6) e
RIRAVIFhF—D7—R—F B:FA(DS25— HERSY R
p 4 7 | EIRE 1:32.5 3-1-2-2 | 41.8| — 2 486 | NEEE (1)
9|55 | LYY 54.0 @8 +9) SEBS
R:T=ILRZUa—b B:95—REILY /=Y ITr—1L
o # 5 BB 1:32.8 6-6-4-7 | 41.6 = 5 496 | gt (111E)
10/8|11| Y~ hAE=T 56.0 (1172 1y | ST
R:2hOVJUI—r §:50F2—V FATUVRANIST
<, sy TEHA :36. -1-2- . - gz (11IE)
N . BUEREATE R s | T PG mmE
R:UAVF—R B:ISOURIvvT INIT7—1I
- EteFE - - - - FHEE (Fotd)
*x| 812 Z/)hALA o4 56.0 (@) 12 ‘12)5 ENEE L=
RiRSXAYF By R7PyzIvh HE @&
@ 1—F—&BIEL
13—7— (4,8).,5,7,3,(6,11),(2,9),10,1
20—F— (4,5,8),7,3,(6,11),9,2,10,1
30—7— 4,(5,8),(2,3,7,11),10,6,9,1
43— — 4,5,7,3,2,6,11,10,1,9,8
o ILRE
B B 3 610M4 AR 2-3 780M4 % 3= 2-3 2,460M 3EE 2-3-6 33,070M4
7B B 3 240M 3-6 3,390M B 3-2 7,110 3EH 3-2-6 162,410
2 410 2-6 3,400H /B & 2-3 2,170
6 5404 =51 3-2 5,280M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




